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 For example, “Chapter 2: L4 A and B” review standards from chapter 1 and  
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 There are 2 worksheets with the same type of problems for each lesson. 
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homework.  Or do side “A” as guided practice and “B” for independent 
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 Chapter 2: L1 A     Name _______________ 
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
 
  

 8 fish.  3 swim away.  How many fish are left?  
 Draw a picture to solve. 
 
                  _____  fish 

              
  
 

 

6 boys.  2 boys go home.  How many boys are there now? 
Draw a picture to solve.    
      
                  _____  boys 
 

 
What is the sum of 3 and 5? 

                                             
 

     
  
 

 

 6  7  8    9 
 o  o  o    o 

 

There are 2 big cookies and 4 little cookies.      How many cookies in all? 

 

   ____  +  ____  =  ____ 
 

     
  
 

 

Find the missing part.                             
                                             
 

                                                          
  
 

 

 2 

 Circle the addition sentences that have the same addends in a different order. 

 

                 7 + 3 = 10   3 + 4 = 7   3 + 7 = 10 
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   5 



       Chapter 2: L1 B     Name _______________ 
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
 
  

 5 frogs.  2 hop away.  How many frogs are left?  
 Draw a picture to solve. 
 
                            _____  frogs 

              
  
 

 

4 girls.  3 go home.  How many girls are there now? 
Draw a picture to solve.    
      
                              _____  girl 
 

 
What is the sum of 2 and 7? 

                                             
 

     
  
 

 

 6  7  8    9 
 o  o  o    o 

 

John ordered 3 large milkshakes and 4 small milkshakes.      How many in all? 

 

   ____  +  ____  =  ____ 
 

     
  
 

 

Find the missing part.                             
                                             
 

                                                          
  
 

 

 2 

 Circle the addition sentences that have the same addends in a different order. 

 

                 6 + 3 = 9   3 + 6 = 9   8 + 1 = 9 
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   7 



 Chapter 2: L2 A     Name ________________ 
 
1. 
 
 
 
 
2. 
 
 
 
 
3.       
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
 
  

7 birds.  3 flew away.  How many birds are there now?  
Circle the part you are taking from the group.  Then cross it out. 
                  
            _____  birds 
 

                     

                                             
 

     
  
 

 

8 cupcakes.  Jill ate 1.  How many cupcakes are left?  
Draw a picture to solve.  Use circles to show cupcakes. 
 
                     _____  cupcakes 
 

                     

                                             
 

     
  
 

 

There are 3 frogs.  2 hop away.  How many are there now?     

                           3 – 2 = ____             _____ frog 

                     

                                             
 

     
  
 

 

There were 5 puppies.  3 ran away.  How many are there now? 

        ____      ____      ____ 
 

 

 

                     

                                             
 

     
  
 

 

Add.                     Change the order of the addends.           Write the sum. 

 0 + 6 = _____           ____      ____      ____ 
   

 

                     

                                             
 

     
  

Show two ways to make 5.    
   
                                 ___ + ___ =  ___      ___ + ___ =  ___
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 Chapter 2: L2 B     Name ________________ 
 
1. 
 
 
 
 
2. 
 
 
 
 
3.       
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
 
  

6 bees.  2 flew away.  How many bees are there now?  
Circle the part you are taking from the group.  Then cross it out. 
                  

                                  _____  bees 
 

                     

                                             
 

     
  
 

 

8 bananas.  Barb ate 2.  How many are left?  
Draw a picture to solve.  Use circles to show bananas. 
 
                      _____  bananas 
 

                     

                                             
 

     
  
 

 

There are 4 bears in the cave.  3 went away.  How many are in the cave now?

    4 – 3 = ____             _____ bear 

                     

                                             
 

     
  
 

 

There were 5 rabbits.  3 hopped away.  How many are there now? 

        ____      ____      ____ 
 

 

 

                     

                                             
 

     
  
 

 

Add.    Change the order of the addends.        Write the sum. 

 0 + 4 = _____           ____      ____      ____ 
   

 

                     

                                             
 

     
  

Show two ways to make 4.    
   
                                 ___ + ___ =  ___      ___ + ___ =  ___
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 Chapter 2: L3 A      Name _______________ 
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
 
  

 8 deer.  4 run away.  How many deer are there now?  
 Circle the part you are taking from the group.  Then cross it out. 
                  
                                        _____ deer

                                                 

                                             
 

     
  
 

 

What is the difference?   
                                  
                                                                                     ____  -  ____ = ____ 
           

                                             
 

     
  
 

 

 

There are 8 girls.  3 go home.  How many are there now?     

                   ____  -  ____ = ____           _____ girls

  
                                                      

                                             
 

     
  
 

 
Ron has 4 marbles.  
2 marbles are red. 
The rest are blue. 
How many are blue?                                                             
     

                                                                               ____  -  _____ = _____ 
           

                                             
 

     
  
 

 

  _____ blue 

____   -   ____   =   ____ 
 

 Circle the number sentence that solves the problem. 
There are 6 dogs.  4 are big.  The rest are little. How  many are little?  

6 + 4 = 10     10 – 6 = 4     6 – 4 = 2  

      
                                                      

                                             
 

     
  

Add. 

     2 + 7 = _____ 
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 Chapter 2: L3 B      Name _______________ 
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
 
  

 6 mice.  4 run away.  How many mice are there now?  
 Circle the part you are taking from the group.  Then cross it out. 
                  
                                  _____ mice                 

                                

                                             
 

     
  
 

 

What is the difference?   
                                  
                                                                                     ____  -  ____ = ____ 
           

                                             
 

     
  
 

 

    

There are 7 puppies.  4 fall asleep.  How many are awake?     

                   ____  -  ____ = ____   _____ are awake

  
                                                      

                                             
 

     
  
 

 
Pete has 5 coins.  
2 are dimes. 
The rest are pennies. 
How many are pennies?                                                            
      

                                                                               ____  -  _____ = _____ 
           

                                             
 

     
  
 

 

_____ pennies 

____   -   ____   =   ____ 
 

 Circle the number sentence that solves the problem. 
There are 4 ice cream cones.  3 are chocolate.  The rest are vanilla.  
How  many are vanilla?  

 4 + 3 = 7     4 – 3 = 1     7 – 4 = 3  

      
                                                      

                                             
 

     
  

Add. 

     5 + 3 = _____ 
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        Chapter 2: L4 A      Name _______________ 
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
 
  

Jane had 6 markers.  She gave 4 to her friend.   
How many does she have now? 
              ______      _____        _____  

                                                   

                                

                                             
 

     
  
 

 

There were 6 slices of pizza.  Larry ate 3 slices.  How many are left? 
 

                                                      6 – 3 = ____  
                                

                                             
 

     
  
 

 

3 

6 

Some frogs were in the pond.  
2 hopped away.   
Then there were 6 frogs.     
How many frogs were in the pond at first?           
                                    ____ 

                                                   

                                

                                             
 

     
  
 

 

 

___ – 2 = 6  

There are 10 dogs.            
Some are brown.                                                                               
6 are black.  

How many are brown?                       10 
               

                                                   

                                

                                             
 

     
  
 

 

     6 
    ____ brown 
  

 Which shows the same addends in a different order?   

    7 – 2 = 5    2 + 5 = 7  7 + 2 = 9 

              

                                                   

                                

                                             
 

      5 + 2 = 7 

Add. 
                               
                            

              

 5 
     + 2  
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 0 
     + 3  
 

        9 
     + 0 

   8 
+ 1 



 Chapter 2: L4 B      Name _______________ 
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
 
  

Trent had 6 books.  He gave 2 to his friend.   
How many does he have now? 
              ______      _____        _____  

                                                   

                                

                                             
 

     
  
 

 

There were 8 pieces of pie.  Dave ate 4 pieces.  How many are left? 
 

                                                       8 – 4 = ____  
                                

                                             
 

     
  
 

 

4 

8 

Some birds were in the tree.  
3 flew away.   
Then there were 2 birds.   
How many birds were in the tree at first?           
                                    ____ 

                                                   

                                

                                             
 

     
  
 

 

 

___ – 3 = 2  

There are 7 books.            
Some are fiction.                                                                               
3 are nonfiction.  

How many are fiction?                       7 
               

                                                   

                                

                                             
 

     
  
 

 

3 
        ____ fiction 
 

 Which shows the same addends in a different order?   

  10 – 2 = 8    2 + 6 = 8  2 + 8 = 10 

              

                                                   

                                

                                             
 

      8 + 2 = 10 

Add. 
                               
                            

              

 6 
     + 2  

© Donna Walker 2013 

 0 
     + 7  
 

        3 
     + 0 

   6 
+ 1 



        Chapter 2: L5 A      Name _______________ 
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
 
  

Show 3 different ways to make 6. 
 

____ + ____ = 6  ____ + ____ = 6        ____ + ____ = 6 

                               
                            

              

                                                   

                                

                                             
 

     
  
 

 

There are 2 red balloons and 4 green balloons.      How many balloons in all? 

 

            _____  + _____ = _____ 

                 
                            

              

                                                   

                                

                                             
 

     
  
 

 

What is the difference?   
                                  
                                                                                        ____  -  ____ = ____                               
                            

              

                                                   

                                

                                             
 

     
  
 

 

Draw lines to match.    
Subtract to compare.  

 
 

_____ - _____ = _____         _____ more  

                               
                            

              

                                                   

                                

                                             
 

     
  
 

 

Draw lines to match.   
Subtract to compare.   

 
 

_____ - _____ = _____        _____ fewer 

 
                               
                            

              

                                                   

Jan has 2 more cats than dogs.   
Draw a picture to compare.  
Use circles for cats. 
Use squares for dogs. 
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        Chapter 2: L5 B      Name _______________ 
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
 
  

Show 3 different ways to make 5. 
 

____ + ____ = 5  ____ + ____ = 5        ____ + ____ = 5 

                               
                            

              

                                                   

                                

                                             
 

     
  
 

 

There are 2 red trucks and 6 green trucks.      How many trucks in all? 

 

            _____  + _____ = _____ 

                 
                            

              

                                                   

                                

                                             
 

     
  
 

 

What is the difference?   

                               
                                                                                        ____  -  ____ = ____                               
                            

              

                                                   

                                

                                             
 

     
  
 

 

Draw lines to match.    
Subtract to compare.  

 
 

_____ - _____ = _____         _____ more  

                               
                            

              

                                                   

                                

                                             
 

     
  
 

 

Draw lines to match.   
Subtract to compare.   

 
 

_____ - _____ = _____        _____ fewer 

 
                               
                            

              

                                                   

Wes has 3 more footballs than baseballs.   
Draw a picture to compare.  
Use circles for baseballs. 
Use squares for footballs. 
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        Chapter 2: L6 A      Name _______________ 
 
1. 
 
 
 
 
2. 

 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
 
  

What is the sum of 2 and 7? 

                                             
 

             
                            

              

                                                   

                                

                                             
 

     
  
 

 

Write 2 addition sentences that have a sum of 5.           

 

    ____  ____  ____           ____  ____  ____      

                         
                            

              

                                                   

                                

                                             
 

     
  
 

 

    

Ann had 3 candy bars.  She gave 2 to her friends.  How many did she have left? 
 
 

    ____  ____  ____      

                            

              

                                                   

                                

                                             
 

     
  
 

 

  

Draw lines to match.   
Subtract to compare.   

 
 

_____ - _____ = _____         ____ more 
   

                                                   

                                

                                             
 

     
  
 

 

 Mary has 6 hats.  Sarah has 4 hats. 
 How many more hats does Mary have 
 than Sarah?  Draw a picture to solve.                          
                    _______ more hats 
     

                                                   

                                

                                             
 

     

 Find the missing part.                              

                            

              

                                                   

10  9  6    5 
 o  o  o    o 

 

5 

2 
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 Chapter 2: L6 B      Name _______________ 
 
1. 
 
 
 
 
2. 

 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
 
  

What is the sum of 1 and 7? 

                                             
 

             
                            

              

                                                   

                                

                                             
 

     
  
 

 

Write 2 addition sentences that have a sum of 4.           

 

    ____  ____  ____           ____  ____  ____      

                         
                            

              

                                                   

                                

                                             
 

     
  
 

 

    

Amy had 4 pencils.  She gave 1 to her friend.  How many did she have left? 
 
 

    ____  ____  ____      

                            

              

                                                   

                                

                                             
 

     
  
 

 

  

Draw lines to match.      
Subtract to compare.   

 
 

_____ - _____ = _____                                 _____ more  
   

                                                   

                                

                                             
 

     
  
 

 

 Lynn has 6 toys.  Sam has 2 toys. 
 How many more toys does Lynn have 
 than Sam?  Draw a picture to solve.                          
                      _______ more toys 
     

                                                   

                                

                                             
 

     

 Find the missing part.                              

                            

              

                                                   

 6  7   8    0 
 o  o   o    o 

 

7 

3 
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__________ 



         Chapter 2: L7 A      Name _______________   
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5.  
 
 
 
 
6. 
            
  

Lee has 7 pets.   4 pets are cats.  The rest are dogs.   
How many dogs does Lee have?  Draw a picture to solve.                           

                                                                               _____ dogs                           

                            
                            

              

                                                   

                                

                                             
 

     
  
 

 

 Find the missing part.                                                        
                            

              

                                                   

                                

                                             
 

     
  
 

 

How many fewer? 

 

 _____ fewer                          

  
__                           
                            

              

                                                   

                                

                                             
 

     
  
 

 

Add.        7 + 1 = _____  1 + 7 = _____  0 + 6 = _____ 

             2 + 2 = _____  9 + 0 = _____  3 + 2 = _____ 

          

                            
                            

              

                                                   

                                

                                             
 

     
  
 

Sue had 5 cookies.  She ate 5 of them.  How many did she have left?                         

          

   ____ - ____ = ____                           _____ cookies  

              

                                                   

                                

                                             
 

     

Ben had 5 cookies.  He didn’t eat any. How many cookies were left?                     
 

  ____ - ____ = ____                           _____ cookies  
 
                            

8 

4 
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 Chapter 2: L7 B      Name _______________   
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5.  
 
 
 
 
6. 
            
  

Greg has 6 cookies.   2 are chocolate.  The rest are vanilla.   
How many vanilla cookies does Greg have?  Draw a picture to solve.                           

                                                                             _____ vanilla                          

                            
                            

              

                                                   

                                

                                             
 

     
  
 

 

 Find the missing part.                                                        
                            

              

                                                   

                                

                                             
 

     
  
 

 

How many fewer ? 

 

 _____ fewer                          

  
__                           
                            

              

                                                   

                                

                                             
 

     
  
 

 

Add.        9 + 1 = _____  1 + 9 = _____  0 + 4 = _____ 

             4 + 2 = _____  5 + 0 = _____  3 + 4 = _____ 

          

                            
                            

              

                                                   

                                

                                             
 

     
  
 

Eve had 5 gummy bears.  She ate 5 of them.  How many did she have left?                         

          

 ____ - ____ = ____                     _____ gummy bears                   

              

                                                   

                                

                                             
 

     

Jay had 5 gummy bears.  He didn’t eat any. How many gummy bears were left?                     
 

____ - ____ = ____                     _____ gummy bears                   
 
                            

10 

5 
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 Chapter 2: L8 A      Name _______________  
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
  

 What is the difference?        

 7 - 2 = _____                           

              

                                                   

                                

                                             
 

     
  
 

 

Circle the addition sentences that have the same addends in a different order. 

          2    8    6    8 

       + 6          + 2          + 2          + 0 

          8           10    8             8 
  

       

                                                   

                                

                                             
 

     
  
 

 

Mark has 2 pencils.  Joe has 5 pencils.  How many fewer pencils does 
Mark have than Joe?  Draw a picture to solve.                                      
           
              ____ fewer pencils
  

                                    

              

                                                   

                                

                                             
 

     
  
 

 

Kate got 5 pieces of gum at the store.  She chewed 5 pieces.  
How many pieces does she have left?                            

    ____  ____  ____                       _____ pieces 

                                                   

                                

                                             
 

     
  
 

 

  

Which shows a way to take apart 7? 

         7 + 1 = 8   7 - 3 = 4   10 - 3 = 7 
               o                                  o                               o                   
              

                                                   

                                

                                             
 

     

Show a way to take apart 6.                     
 

                                    ____  ____  ____               
              

                                                   

  

 
10  9  6    5 
 o  o  o    o 

 

© Donna Walker 2013 

 



 Chapter 2: L8 B      Name _______________  
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6. 
  

 What is the difference?        

 8 - 2 = _____                           

              

                                                   

                                

                                             
 

     
  
 

 

Circle the addition sentences that have the same addends in a different order. 

          4    0    7    8 

       + 4          + 8          + 1          + 0 

          8             8             8             8 
  

       

                                                   

                                

                                             
 

     
  
 

 

Vick has 4 notebooks.  Tom has 6 notebooks.  How many fewer notebooks 
does Vick have than Tom?  Draw a picture to solve.                                      
           
                ____ fewer notebooks
  

                                    

              

                                                   

                                

                                             
 

     
  
 

 

Tim got 9 pieces of candy at the store.  He ate 9 pieces.  
How many pieces does he have left?                            

                          ____  ____  ____           

                                                   

                                

                                             
 

     
  
 

 

  

Which shows a way to take apart 8? 

         8 + 1 = 9   10 - 2 = 8    8 - 3 = 5 
               o                            o                            o                   
              

                                                   

                                

                                             
 

     

Show a way to take apart 5.                     
 

                                    ____  ____  ____               
              

                                                   

  

 

 
10  9  6    5 
 o  o  o    o 

© Donna Walker 2013 

 



       Chapter 2: L9 A     Name ________________  
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6.             
 
  

Ken has 3 hats.   Lee has 8 hats.  How many more hats does Lee have than Ken? 

Draw a picture to solve.        

 
 
 
  _ 
                                                                         
                                             
 

     
  
 

 

What number sentence solves this problem? 

Don ate 5 oranges.  Bill ate 3 oranges. 

How many oranges did they eat in all? 
 

                                     

              

                                                   

                                

                                             
 

     
  
 

 

Show a way to take apart 8.                     
 

                                    ____  ____  ____               
              

                                                   

                                

                                             
 

     
  
 

 

  

Find the missing part. 
              

                                                   

                                

                                             
 

     
  
 

 

Subtract.     7 - 1 = _____     9 - 7 = _____       7 - 6 = _____ 

                   2 - 2 = _____     9 - 0 = _____       3 - 2 = _____ 

 
 

                                     

 

              

                                                   

Subtract. 

      6     8     6     8 
  -  2          -  2          -  0          -  8 

                                         

              

       o      5 - 3 = 2 

        o      5 - 2 = 3 

        o      5 + 3 = 8 

    

     

 

____ more hats 

10 

6 
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 Chapter 2: L9 B     Name ________________  
 
1. 
 
 
 
 
2. 
 
 
 
 
3. 
 
 
 
 
4. 
 
 
 
 
5. 
 
 
 
 
6.             
 
 

Cam has 3 cars.   Russ has 9 cars.  How many more cars does Russ have than Cam? 

Draw a picture to solve.        

 
 
 
  _ 
                                                                         
                                             
 

     
  
 

 

What number sentence solves this problem? 

Mike ate 4 apples.  Luke ate 3 apples. 

How many apples did they eat in all? 
 

                                     

              

                                                   

                                

                                             
 

     
  
 

 

Show a way to take apart 6.                     
 

                                    ____  ____  ____               
              

                                                   

                                

                                             
 

     
  
 

 

  

Find the missing part. 
              

                                                   

                                

                                             
 

     
  
 

 

Subtract.     9 - 1 = _____     5 - 4 = _____       5 - 3 = _____ 

                   5 - 5 = _____     8 - 0 = _____       6 - 1 = _____ 

 
 

                                     

 

              

                                                   

Subtract. 

     7     9     7     4 
  -  3          -  0          -  2          -  4 

                                         

              

       o      4 - 3 = 1 

        o      4 + 3 = 7 

        o      7 + 3 = 10 

    

     

 

____ more cars 

7 

4 
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